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WUms: Jata: ___ Ouenka:___
7,52 x20% = 1,28 x20% =
2,16 x 40% = 7,9 x 40% =
5,67 x 70% = 8,92 x 90% =
3,22 x30% = 0,43 x 80% =
9, 84 x 80% = 1,34 x 80% =
1,44 x90% = 8,24 x90% =
5,49 x90% = 0,67 x30% =
8, 08 x 40% = 0,52 x 50% =
8,05 x40% = 1,95 x30% =
7,22 x 80% = 0, 81 x 50% =
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Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

7,52 x20% = 1.504

2,16 x40% = 0.864

5,67 x70% = 3.969

3,22 x30% = 0.966

9,84 x 80% = 7.872

1,44 x90% = 1.296

5,49 x90% = 4.941

8,08 x 40% = 3.232

8,05 x40% = 3.22

7,22 x 80% = 5.776

[ara:

1,28 x20% = 0.256

7,9 %x40% = 3.16

8,92 x90% = 8.028

0,43 x 80% = 0.344

1,34 x80% = 1.072

8,24 x90% =7.416

0,67 x 30% = 0.201

0,352 x 50% = 0.26

1,95 x30% = 0.585

0, 81 x 50% = 0.405
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Orenka:
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